
Session 1: 
5467 ÷100      6102 ÷ 10         9229 ÷ 100      £45.65 + 37p       3 x 3 x 8   9 x 8 x 6  

563÷5      774÷4       6510 = _____ - 342          7991 = 4435 + ______ 

Session 2: 
9305 + 856 =             4488 + 7721 =         1456+ 200 + ____ = 1856 

375 + 225 + ____ = 1000     450 = 350 + ____      36 = 22 + ____ 

67 = 43 + _____        26 x 4 =        704 x 5   

Session 3: 
[bookmark: _GoBack]27x5      443 x 8     4/7 of 56      956 =  _____ - 322   6547 = _____ - 294 

5433 = _____ + 905       ____ = 6677 + 3346      4 x 5 x 3       6 x 6 x 3   
 
Session 4:   
50 x 3 =        600 x 4 =        810÷9 =        4356 + 6567 =   7272 -6565 =

346 x 3 =       76 ÷ 8 =        2 x 6 x 7 =       4/6 of 180 =  
 

Session 5: 
140÷7 =        320÷8 =          450÷5=      60 x 3 =      400 x 2 =  
59 ÷ 3 =      87 ÷ 4 =       557÷3=        296 ÷ 7 =        3/8 of 48 =  

